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1.1. HEX-E QC
Ut £ 4 65 ZA/EFJ MM =
Fxy Fz Txy Tz
T4 8 (N.C) 200 200 10 6.5 [N] [Nm]
N.COIAM EHUS M (L) +1,7 +0,3 +25 (x5  ([mm][]
+0,067 (+0,011 |x25 [+5 [inch] [°]
EHU= &5t 500 500 500 |500 |[%]
s BE* (Yeh 0.035 0.15 0.002 |0.001 [[N][Nm]
S M7 (HEh 0.2 0.8 0.01 |0.002 |[N][Nm]
Z[cH "HMHE S <2 <2 <2 <2 [%]
O|Z(Fz HolM &7, L <2 <2 <2 <2 [%]
EM(YEh <5 <5 <5 <5 [%]
P SZ 67
T (HXxWxL) 50 x 71 x 93 [mm]
1.97 x 2.79 x 3.66 [inch]
F(LHE ofHIE| ZC0|E 7)) 0.347 kgl
0.76 [1b]
*AE HE2 Uit 1x FRES AE 0 EFE HAN(10)E Ho|x| &L CH
i3E =4 E Y =L Z|cH =a
M 32 & 7 ~ 24 (V]
AH| HH ~ ~ 0.8 W]
38 2k 0 ~ 55 [°C]
32 ~ 131 [°F]
Aol EZ(HISE) 0 ~ 95 (%]
HE =S = 30 000 ~ ~ [Hours]
MEH 7|7H ~ 15 000** ~ [Hours]
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£ 5toll chet CHx{ A=l o| LIEHLE RU&LCH
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1.2. HEX-H QC
Uk 4 65 ZA/EF MM =
Fxy Fz Txy |Tz
4 &% (N.C) 200 200 20 13 [N] [Nm]
N.CO|A LS (L +0,6 +0,25 |+2 +35 |[mm][]
+ 0,023 [+£0,009 [£2 +3,5 |[inch] [°]
EHls 025t 500 400 300 |300 [[%]
e FHar (hh 0.1 0.2 0.006 |0.002 |[[N][Nm]
E M7 (e 0.5 1 0.036 |0.008 |[[N][Nm]
Z|cH "M <2 <2 <2 <2 [%]
Ol(Fz FoM &, &t <2 <2 <2 <2 [%]
=M (deh <5 <5 <5 <5 [%]
P SZ 67
T4 (HxWxL) 50 x 71 x 93 [mm]
1.97 x 2.79 x 3.66 [inch]
SY(LHY o{=HE] EB0IE 2 F) 0.35 [kg]
0.77 [1b]
*AS RS2 Uit 1x FES M50l EF HRH(10)2 Moz |t&LCh.
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M 32 & 7 ~ 24 \4
A H| M3 ~ ~ 0.8 [W]
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1.3. HEX-E QC &! HEX-H QC H|1
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1.4. HEX-E/H QC 2fA L E
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1.5. HEX-E/H QC

s0[1.969] "

93(3.645]




	HEX-E/H QC
	1. 데이터 시트
	1.1. HEX-E QC
	1.2. HEX-H QC
	1.3. HEX-E QC 및 HEX-H QC 비교
	1.4. HEX-E/H QC 박스 내용물
	1.5. HEX-E/H QC


